(

) = (5x = 2y) = 2x + y°lIl A (

) = (2x+y) + (5x - 2y)
=2x+y+5x—2y
=Tx-y




2. —2x(-2x+3)S 73] 5HH?

@ 4x2 + 6x @ —4x® - 6x ((@élx2 —6x

@ —4x% + 6x ® 4x-6

(=2x) X (=2x) + (=2x) X 3 = 4x? — 6x




@ 2x+1=5

@ 4x-3

@ -5a+2

@6>3

® 3a=6

o

it
A




4. = SolA mIAS7E 2 7R AT A oA (FH 270)

@ x(x-y)=0 @x—%zl

@ 2+y’=1 @2(x—y):1

G@)JCQ—yz)H—x2

~&B

@ 2(x-y)=1
L2x—-2y-1=0
®x-—y=x+x>
Lx+y=0




A2 A dx —ay - 12 =0 9] 37} (1,-2) & ), a 9] ZHL?

D -4 @ -2 ®1 @ 2 @4

4xl-ax(-2)-12=0,a=4




6. Sx-y+14=029 2HZ} = H (a,4),3,b) EAL W, b-a 2
& otH?

o7 @ 10 @ 12 @ 15 @31

~&B ~

(a,4),(3,b) & bx—y+ 14 = 0 o gt
5a—4+14=0,a = -2
15-b+14=0,b=29

“b-a=3l




£3A4 3.0206 & B2 YERYH?

15088 30173
. %835 ’ éﬁggé
@ 4995 @ 9990

15103

4995

30206 — 30 30176 15088

30206 = ——3550 = 09990 ~ 4995




a=3"2L ], 27 & aof B Aoz YERfH?

O 81a? @ 2434> @ 81a° @ 24343 (B®)729a43

B

1
a=32x3"=-x3"

. 3*=09a
27% = 3% = (3%)3 = (9a)® = 93a®




10 5]
9. 210 =4, 310=pRetn o, 3610 x 3202 A, BE JEIYH?

D)A%B*
Q @ 24B* ® 4AB?
@ 6A2B* (3 8A2B2

(62)10 X 320 — (2 % 3)20 % 320 — 220 % 340
— (210)2 % (310)4 — A2B4




10. x, y 7b A o, DA x+2y = 5 9] Sl 2% 2 A7

o1 @24 3% @1 ©54%

(1, 2), (3, 1)




11. 3

Py =2 ol thsted f(-3) =4 9 W, £(-2) o gE?

®6 ©-3 B0 @ 3 ®s
f(—3):i3:4 a=-12
12
flx)=-—




12.

=—dx+b ] (2
1= 4bolmE
b=

Ly=—4x+7

@ y=-4x-3
® y=-4x-10
-1) & dYdstH




&7} -4,y AL 3 Q) 44
Z2?

1
® ) @ 4 ® 0

[

y=-4x+3 | (a, 4) E N
4=—-4a+3

) 1

o @ ===

4

0]

H




14. o= 2884 S 1 227t 4 (1,-1) & Avkes A2?

® 2x+3y=5 @x—4y:5 ® 3x-y=7
1
@ -2x+y=4 ©gx_§y:4

Folx B7lof (1,-1) & tYste] S4lo] Aots AS Z+=
@1+4=5




@ a<b¥qdW, 2+a<-2+b 0|t}

®a>b -5 <2 ol
@ a<b ¥, -3(a-5)>-3(b-5) °olt}.
bol

® §<§ ) of, a < b ot}




16. a<h ¥ M, 3 T 2 A LF I2H?

3 3
@ga+1<gb+1 @)3-4a>3-4b

® -3a-1<-3b-1 @ -0.1-2a<-0.1-2b

l—a 1-b
® 3a>T

@ -01-2a>-0.1-2b




_ -2 =
17 RS 205 - 0 <18 B
(@>x>—1 @ x<-1 ® x>1
29
1 _=
@x< ©X> 11
x—2_5x—3<1
3 4

oFH o] o] HATH|S 122 ZolH
Ax-8—-15x+9 <12

-11x< 11

Lox>—1




18.

a<-34 M, 2a-(a+3)x<-62 & FolHA?

@ x<0 @ x<1 @x<2 @ x>1

® x>2

B

2a - (a+3)x< -6
—(a+3)x<-2a-6
(a+3)x>2a+6

L x<2(0 a+3<0)




19. LAY AHA x+ by +c =02 T Zo A xEHo|

o, o] I o] 71 7]=?

®

1 1
®-; @-; O

[S R
| —

4 yx-hlio] 2

Q]
=

~&B

dH T (—4,0), (0,2)E AUYEZ
—4+c:0,c:4
2b+4=0, b =—

1
x—-2y+4=0 = y:§x+2

w2bA 71271 S olH

wl»—‘







